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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Sentence Jumbles Questions Overview

Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Sentence Jumbles Questions.

Question

Rearrange the following sentences to form a correct passage. A. The announcement came as no surprise. B. With the
virus galloping to 116 countries/regions causing more than 118,000 cases and 4,291 deaths, as on Wednesday, March 11,
the World Health Organisation took the last logical step the same day to spotlight the threat posed by the novel
coronavirus (SARS-CoV-2) — by declaring it a pandemic. C. On Thursday, the numbers rose further: 1,27,863 cases and
4,718 deaths. D. On Monday, the WHO chief did caution that the “threat of a pandemic has become very real” based on
the number of countries reporting new cases.

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. ACDB

2. BADC
3. DCBA

4. ACBD

Solution

The correct answer is option 2 i.e. BADC.

1. Sentence B we get an introduction to the entire context of the passage, which is the declaration of the Corona Virus
outbreak as a pandemic. The following sentences goes on to talk about this same announcement, but only sentence
B is specific in introducing us to the context of the case being a pandemic.

2. Sentence A backs the first sentence by speaking about how inevitable such a decision was supposed to be, hence
occuring as the second statement.

3. Sentence D adds more to the pre-existing points. It goes on to describe how an official at WHO was expressing the
same as he witnessed the number of deaths all around the world.

4. Sentence C ends with a conclusive note, portraying the number of deaths due to the pandemic. The number of
deaths justify WHO's declaration as well as the other points mentioned by the following two sentences, hence
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becoming our last statement in the passage.

This arrangement is the correct one beacuse it forms a perfect sequential order for the passage. It firstly introduces us to
the context and goes on to justify the meaning of the first statement, finally ending with a statistical note on how the entire
context makes sense.
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